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Q.1 Read the following passage carefully:

1. Laughter 1s a way of showing happiness. We laugh only when we are really

3.

happy. Every one of us loves to laugh. That’s why funny films or comedies

are so popular. Is there any one whom jokes or tit-bits do not tickle to
laugh? Hardly any.

Laughter refreshes and relaxes us. It lightens our minds by removing stress
and strain. It lessens our worry. In this way 1t proves to be a very good tonic
for the mind. When our mind 1s free from all sorts of worry and tension, we
enjoy good mental health. And good mental health contributes a lot to our
good physical health, That is why laughter is known as ‘the best medicine’.

Ore of the well-known advantages of laughter 1s that it helps forget our
sorrow and anger. Suppose, we are in an angry mood, somebody tries to
lighten the atmosphere by cracking a joke. Now the humour and lighter
content of the joke 1s bound to have its effect on us. As a result, we will stop
sulking and find ourselves laughing. After a good laugh, nobody can continue

“to be angry. Laughter melts anger. It does the same to sorrow.

Write the option you consider the most appropriate in your answer sheet:

(1) Funny films are very popular because
(a) they are very interesting
(¢) everybody loves to laugh

(1) When we laugh

................. (l’i marks)

(b) they release our tensions
(d) they are in fashion these days

oooooooooooo

(a) we get refreshment and relaxation  (b) we get more oxygen
(c) we get more strength
(111) Laughter 1s a very good
(@) exercise for mind and body

(d) we get better people to meet

...............

(b) tonic for the mind



J

) opportunity to avail of (d) breathing exercise

(1v) Anger and sorrow can be removed only by

----------

(a) love (b) care

(¢) laughter (d) good behavior
(v) The word “lessons” in paragraph 2 means............

(a) lessons (b) parts of advice

(¢) reduces (d) solves

Q. 2. Read the following poem carefully.
: SCHOOL
School bells are ringing, loud and clear;
Vacation’s over, school 1s here.
We hunt our pencils and our books,
And say goodbye to fields and brooks.
To carefree days of sunny hours,
To birds and buttertlies and flowers.
But we are glad school has begun,
For work 1s always mixed with fun.
When autumn comes and the weather 1s cool,
Nothing can take place of school.

Given below is the summary of the poem. Complete it by writing the missing word

against the correct blank number in your answer sheets. (1/2x10=5 marks)
When the (a)......... gets over, 1t 1s time to go back to (b)...euvn....... . The school bell
starts (€) .ovvevveenn once again loud and clear. Children bid (d).voverevevrennnnn... to their
Play M (B e and near small nivers and (f)............. for their stuft hike
pencils and books. (g)............ days of playmg with (h)................. , butterflies and
flowers are over. Most children are (1).couuv........ to come back to school where they
can have () ..oovvveevennenne, while they work.

Q.3 Write a paragraph on any one of the following: (5 marks)

(a) Importance of trees
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Q.4 Choose the correct word from the options given below to complete
the following passage: (4 marks)

Cnce tnere (). e (1s, was, were) a farmer. He was very unhappy. His four sons

did not live in (b) .oovveeeeeenee. (happy, peace, calm). This was the cause of his (0).........
(worry, happiness, peace). He tried his (d)................ (good, better, best) to teach them
1 lesson that unity has a great (€)..coveeeeennnns ( strength, success, peace) but he

0t icn 15 rsies o bemnnines (has not, did not, have not) get success. One day he (g)......... (thinks,
think, thought) of a plan. He gave his sons a bundle of sticks to (h) ............. (break,

brake, broke) but they could not do so. This taught them the lesson of living in unity.

Q.5 Rearrange the words and phrases to form meaningful sentences. (4 marks)
(a) 1s o/ pleasant/ very/ the morning/ time

(b) best/ 1s / nature/ 1ts/ at

(c) cool/ fresh/ and/ 1s/ the air

(d) at such/ a walk/ 1/ a time/ very refreshing




5 Complepe ﬂle-sfollowing passage by filling in the blanks by choosing the

ppropriate conjunction out of the ones given below: | (2 marks)
JOVE () viis cuionps sorrows are the part and parcel of our life. Everybody likes joys
{5 PR we cannot go without sorrows. We must know that (€) ....ceevvveeennnee.

there 1s sunshine, there must be shade. Sorrows should be welcomed (d)
they teach us many good things.

oooooooooo

(a) () also (1) and (111) but

(b) @ but (1) so (1) also

(c) (1) ull (11) until (1) 1f

(d) ) of ~ (u) when (in) because
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l. ( Tick The correct answer) [1x5 =5]

(1) XLIX in Hindu Arabic numeralis :

(@) 59 (b) 49  (c) 39 (d.) 69

(2) 8and15are:

(a.) twin prime number (b.) co- prime number (c.) none of these

(3) The value of 7767 nearest to hundreds is :

(a.) 7780 (b.) 7787 (c.) 7800 (d.) none of these

(4) Aline segment whose end points lie on the circle is called :

(a.) chord (b.) diameter  (c.)radius (d.) none of these



(5) 2.5 litre is equal to:

(a) 250ml  (b) 2500ml () 25ml  (d)none of these

(1.) Fill in the blanks with suitable answer. [1x5 = 5]

(6.) The predecessor of smallest five digit number is e

(7.) The sum of all three angles of a triangleis -=------mmmmee

(8.) 10% -of 1000 = ----

(9:) 1 gram = —~—--reeev mg.

(10.) Representation of data using pictures is called

{m.) ‘ [3x5 = 15]

(11a.)The cost price of a T.V. is Rs. 35000 and selling price is Rs. 32500.

Find Loss.

Ans.



(b) Subtract 8.06 from 15

(12.) Subtract 3/5from 7/8

‘Ans.-

(13a.)The price of 8 cycles is Rs. 9600.Find the price of such 10 cycles.

Ans.

(b.) Find H.C.F. of 48,72 and 192.

Ans.



(14.). Find the area of a square field whose each side is 85 m.

Ans.

(15.) In an election 23875501 votes were poled. There were 3 candidates in
the election. Two of them got 9823823 and 11575947 votes respectively.
How many votes were polled in favour of the third candidate?

Ans.
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Classification Odd-Man(05 Questions)

1.(a)Potato (b)Tomato (c)Banana (d)Cabbage

2.(a)BC (b)KT (c)tm (d)yz
3.(a)Rajasthan (b)Gujrat (c)Tamil Nadu (d)Colombo
4 .(a)Tigei; (b)Eagle (c)Lion (d)Zebra

5.(a)India (b)Bangladesh (c)Sri Lanka (d)Europe

Number Series (05 Questions)

6.6912+36+1.2=----—--—--—-——-——; —————— '

(a)14 (b)15 (c)16 (d)None of these
7.2536+8563-?=6849

(a)4520  (b)4250 (c)4450 (d)4200
8.6540-235%x12+7=5316

(2)1590(b)1597 (c)1596 (d}None of these

9.75% Of A09Gmmmmm e

(a)2070 (b)3072 (c)3073 (d) None of these
10. Vs of %, of 675-

(a) 105 | (b) 90 () 120 (d)os

Coding and Decoding Test (05 Questions)

11.1f code for MAN is OCP then ECTG stands for

(a). GEVI (b) ETCG (c)DBSF (d)BELT
12.CABLE is coded as 312125,then how the word CHAIR will be coded

(a) 381819 (b) 391817 (c) 381818 (d)381918
13.1f G=7,BAG=10,CAR=

(a) 21 (b) 22 (c) 30 (d)32

14.1f BOY is written as RBRORY then MAN can be written as

(a)RMRARN (b) RMARAN {c) RMANR (d) None of these



15.1f ABC-6,DEF-15,GHI-24,find the code of IPL
(a) 32 (b) 38 (¢} 37 (d)35

General Knowledge

16.Who is the author of the Book “My.experiments with the Truth”?

(a)Jawahar Lal Nehru (b)APJ Abul Kalam (c) Mahatma Gandhi (d)Sardar Patel
17.What is the capital of Nagaland?

(a) Kohima (b)imphal (c)Guwahati (d)Tejpur

18.Which Indian player is being awarded with Bharat Ratna 20147

(a) Ravi Shastri (b) Sachin Tendulkar (c) M.S.Dhoni  (d)Virender Sehwag
19.Who was the first Mughal Emperor of India?

(a)  Humayun (b) Babur (c) Jahangir (d)Akbar

20.What is the base material for all Pottery?

(a) Clay (b) Sand (c) Stone (d)Brick
21.Red Fort is in--m=-mm-mmmeeeeeee ?
(a) Mumbai (b)Delhi (c) Jaipur (d)Hyderabad
22 Vishwanathan Anand is @ -------—-- ?

(a)Astronaut (b) Scientist (c) Writer (d)Piayer
23.Which is the largest Desert of the World--—----------—- ?
(a) Thar (b) Gibson (c) Kalahar; ' (d)Sahara

24 How many fundamental rights do we have?
(a) 06 (b) 07 (€ 05  (d)os
25.Who composed the song Vande Mataram?

(a) Bankim Chandra Chhatterjee (b) Rabindra Nath Tagore (c)Mahatama Gandhi (d)J.L.Nehru
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